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• izR;sd bdkbZ esa izR;sd iz'u dk Hkkx A ,oa B vfry?kwŸkjh iz'u gSa] ftuds mŸkj
,d ;k nks okD;ksa esa nsaA

•

izR;sd bdkbZ ds Hkkx C ¼y?kwŸkjh iz'u½ dk mŸkj 200&250 'kCnksa esa nsaA

•
Hkkx D ¼nh?kZ mŸkjh; iz'u½ ds mÙkj 400&450 'kCnksa esa nsaA

• Part A and B of each question in each unit consist of very short answer

type questions which are to be answered in one or two sentences.

•

Part C (Short answer type) of each question should be answered in

200-250 words.

•

Part D (Long answer type) of each question should be answered

within the word limit 400-450.

Unit - I

Q.1 A lS)kafrd vko`fÙk caVu fdrus izdkj ds gksrs gSa\ uke fyf[k,A  (2)

How many types of Theoretical Frequency Distribution? Give

the names.

Q.1 B lglEcU/k Kkr djus dh jhfr;k¡ fdrus izdkj dh gksrh gSa\ uke fyf[k,A(2)

How many types of methods are there for determination of

Correlation? Give the names.
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Q.1 C lkFkZdrk ijh{k.k dh fØ;k fof/k fyf[k,A  (4)

Write the Procedure for Test of Significance.

OR

fuEufyf[kr iznÙk ewY;ksa ls dkyZfi;lZu lglEcU/k xq.kkad Kkr dhft,A

From the data given below,find Karl Pearson’s Coefficient of

Correlation.

1000, 4.5, 3.6, ( ) ( ) 4800xN x x x yσ σ= = = Σ − − =

Q.1 D fuEu leadks ls ‘X’  vkSj ‘Y’  dh vk;q ds chp lglEcU/k xq.kkad dk

ifjdyu dhft,A laHkkO; foHkze dh lgk;rk ls ifj.kke dh O;k[;k dhft,A(12)

Calculate coefficient of correlation between Age of  ‘X’ & ‘Y’

from the following data and interpret your result from Probable

Error.

Age of X 23   27   28   28   29   30   31   33   35   36

X dh vk;q

Age of Y 18   20   22   27   21   29   27   29   28   29

Y dh vk;q

OR

laxkeh fopyu jhfr }kjk iwfrZ rFkk ewY; lwpdkadks esa lglEcU/k xq.kkad dk

ifjdyu dhft, %

Calculate coefficient of Correlation between indices of Supply

and Price by Concurrent deviation method :

Year o’kZ 2011 2012 2013 2014 2015 2016 2017 2018 2019 2020

Supply iwfrZ 114 127 128 120 120 123 127 127 133 137

Price ewY; 108 104 104 106 100 98 99 99 97 92

(2) Code No. : 02/216 (7) Code No. : 02/216

The total population of a city was 12000. The total males were

5000 out of which 4000 were unmarried. The number of

married females was 8000. Do you find any inconsistency in the

figures?

Q.4 D fuEufyf[kr lkfj.kh esa 20 izfrn”kksZ ds ek/; fn;s gq, gSA izR;sd izfrn”kZ dk

vkdkj 25 gSA lexz dk izeki fopyu 13 gSA ek/; ds fy, fu;U=.k

pkVZ]mPpLrj o fuEuLrj lfgr cukb,A   (12)

In the following table given the mean of 20 samples.Size of each

sample is 25.The population standard deviation is 13.Draw the

Control chart for the mean  including UCL, LCL :

31,      25,      31,      27,      20,      18,      17,     29,     30,     32,     19,

23,     28,     37,     25,     31,     27,     33,    20,    27

OR

fuEufyf[kr leadksa ls fuj{kjrk vkSj vijk/k izo`fÙk ds chp ;wy dk xq.k

lEcU/k xq.kkad Kkr dhft, %

Calculate Yuel’s coefficient of Association between Illiteracy

and Criminality from the following data :

iw.kZ la[;k (Total Number) - 122000

lk{kj (Literates) -   20000

lk{kj vijk/kh (Literates Criminals) -        150

fuj{kj vijk/kh (Illiterate Criminals) -      2000

---x---
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Unit - II

Q.2 A NksVs izfrn”kksZ esa lkFkZdrk ijh{k.k dh fof/k;k¡ fdrus izdkj dh gksrh gSa\ uke

fyf[k,A                             (2)

How many methods of Test of Significance are there for testing

Small Samples? Write the names.

Q.2 B dkbZ oxZ ijh{k.k Kkr djus dk lw+= fyf[k,A  (2)

Write the formula for Calculation of Chi-Square Test.

Q.2 C fdlh Vksdjh esa ls 500 lsc ;kn`PN fy, ftlesa ls 50 lsc [kjkc ik, x,A

iwjh Vksdjh esa [kjkc lscksa dk izfr”kr Kkr dhft, vkSj os lhek,Wa fu/kkZfjr

dhft, ftuesa ;g izfr”kr lEHkO;rk ik;h tkrh gSA                            (4)

500 Apples are taken out at random from a basket, 50 are found

to be bad. Estimate the Percentage of  bad apples in the  basket

and assign the limits within which the Percentage  probably lies.

OR

500 Nk=ksa ds ,d lexz esa fookfgrksa dh la[;k 200 gSA mu 150 Nk=ksa esa

ls tks fd ijh{kk esa vlQy Fks] 60 fookfgr gSA ijh{k.k dhft, fd D;k

fookg rFkk vlQyrk ds xq.k Lora= gS vFkok ugha\

In a Population of 500 Students,the number of married is 200.

Out of 150 Students who failed in examination, 60 belonged to

the married group. Test whether the attributes of marriage and

failer are independent or not.

(3) Code No. : 02/216

Items    l= /Year 1999     l= /Year 2000

oLrq,¡ Price      Total Expenses       Price      Total Expenses

dher      dqy O;;       dher    dqy O;;

A 5 50 4 48

B 8 48 7 49

C 6 18 5 20

Unit - IV

Q.4 A ;wy dk xq.klEcU/k xq.kkad dk lw= fyf[k,A  (2)

Write the formula of Yuels Coefficient of Association.

Q.4 B lkaf[;dh; xq.k fu;a=.k dh rduhd dk iz;ksx loZizFke fdlds }kjk o fdl

lu~ esa fd;k x;k\                  (2)

Who and when first used the Technique of Statistical Quality

Control?

Q.4 C 15 nSo U;k;n”kksZ ¼ftuesa izR;sd U;k;n”kZ esa 7 bdkbZ;k¡ yh x;h Fkh ½ ds

foLrkj ewY; ( R ) fuEu izdkj gS % vkj&pkVZ cukb, rFkk fu;a=.k lhek Kkr

dhft,A     (4)

Range of 15 random samples of 7units from each sample were

taken. Construct a chart for Range (R-Chart) and find out the

control limits.

20   34   10   18   20  16   21   9   11   14   22   19   22   20   11

OR

,d “kgj dh tula[;k 12000 FkhA dqy iq#’k 5000 Fks ftlesa ls 4000

vfookfgr FksA fookfgr fL=;ksa dh la[;k 8000 FkhA D;k leadkas esa dksbZ

vlaxfr gS\ P.T.O.
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Q.2 D fuEufyf[kr leadksa ls dkbZ&oxZ dh x.kuk dhft, %  (12)

Calculate Chi-Square from the following data :

czkaM ilan 

Brand 

Preference 

             oxZì’BHkwfe Class Background        ;ksx Total 

/kuoku Rich e/;e Middle xjhc Poor  

I 20 10 20 50 

II 20 20 30 70 

III 20 30 30 80 

;ksx Total 60 60 80 200 

5 izfr”kr lkFkZdrk Lrj ij LokrU=;~ la[;k 4 ds fy, X2     dk ewY; 9.488

gSaA

At 5% level of significance with 4 d.f. X2 value is 9.488 .

OR

1000 vU/ksa O;fDr;ksa ds ;kn`fPNd izfrn”kZ esa 600 O;fDr f”kf{kr gSA blh

izdkj ds ,d nwljs izfrn”kZ esa xSj&vU/ksa O;fDr;ksa esa ls 800 O;fDr f”kf{kr

FksA Kkr dhft;s fd D;k ;g vUrj lkFkZd gS vFkok ughaA

In a random sample of 1000 blind persons 600 are found to be

literate. In another similar-sized sample of non-blind persons

the number of literate persons were  found to be 800. Findout

that this difference is significant or not.

Unit - III

Q.3 A izrhixeu “kCn dk iz;ksx loZizFke fdlus vkSj fdl lu~ esa fd;k\     (2)

Who and when first used the word of Regression?

(4) Code No. : 02/216 (5) Code No. : 02/216

Q.3 B lwpdkadksa dk loZizFke fuekZ.k djus dk Js; fdldks izkIr gS\  (2)

Who gets credit for the first generation of Index number?

Q.3 C ,d fo|kFkhZ }kjk izkIr nks izrhixeu lehdj.k fuEuor gS %  (4)

The two regression equations obtained by a student are given

below:

3x - 4y = 5,                8x + 16y = 15

D;k vki mlls lger gS\ dkj.k crkb,A

Do you agree with him? Explain with reasons.

OR

lwpdkad dks ifjHkkf’kr dhft,A lwpdkadksa dk egRo ,oa mi;ksx crkb,A

Define Index Number. Explain the  importance and uses of

Index Numbers.

Q.3 D fuEu leadksa ls U;wureoxZ jhfr }kjk nksuksa izrhixeu lehdj.k Kkr

dhft,A                                                                                              (12)

From the following data determine both regression equations

by the least squares method:

X 6  2 10 4 8

Y 9 11  5 8 7

OR

fuEu leadksa ls fQ”kj dk ek=k o ewY; lwpdkad RkFkk ykLis;j ,oa ik”ks dk

ek=k lwpdkad Kkr dhft,A

Compute Fisher’s Quantity and Price Index Number and Laspeyre’s

and Paasche’s Quantity Index Number from the following data:
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